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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=iy A B Cc D
RIS SN
1. wm?>K wm ' K™ Wm K WK™
In SI, the unit of thermal conductivity is:
RN U
2. 6x10° kg 6x10" kg 6x10* kg 6x10™ kg
The mass of earth is:
,zrw/.u/,gwy_ﬂ :
3, 764 W 746 W 674 W 647 W
One horse power is equal to:
: v
,4,&55’6/“5&0/:/"1,)"/
4. kgm™ kgm™ kgm™ kgm
In S, the unit of density is:
s 3}
—4—&'}(/‘6()—‘-/)’ v 2
5. = p=my p:(mv) p=my
Equation of momentum is: "
" -an,;/ —y b5/ S o /6/5 Cx"F" b
6. | Aforce "F"actingalong x — axis, its y —component zero F 1 2F
is:
PRI /,J)fuﬁ%uféﬁ_f 14 Ly Ji};ﬂ &bs M
7. By dividing displacement of a moving body with time, speed acceleration velocity deceleration
we obtain:
. ¥ 2
te T3y H et 1 o o2 Kl ¥
8.
Which one of the given units is not a derived unit? Watt Newton Pascal Kilogram
T TN e
9. Jkg K J kg K7 Jkg P K™ Jkg K2
In S, unit of specific heat is:
w ferr§i S sk i o e
10.
The ability of a body to do work is called: Power Energy Force Pressure
e Ou U8 sl L s or S A, =idJu
Y. | The force exerted perpendicularly on unit area of an Strain Young's modulus Pressure Buoyant force
object is called:
,d&?—/’i—&ﬂ/d(ﬁ}f
12. 5 2 8 4
The ways by which transfer of heat takes place are:
1 yd /,/ 408 484 A DANND < b
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Marks : 48 Subjective [Bl‘ﬁl $M' (-] ,.u 48: A
Note: Section I is compulsory. Attempt any two questions from section IL. -2‘54 s u.u,L,bZLof)lﬁ»a&fcu:(-»/_qrdiddil/:&i
(Section —1 (J3l.#) '
2. Write short answers to any five parts. (5x2=10) -é; v c't[,ll 4 L»Iflékaéf 2
i.  What do you understand by the zero error of a measuring instrument? YJZ;@U.;TOVL/;I;yLJTLgQ;L{ A
ii.  Whatis Vernier Callipers? Write its least count. ,Z-.{{/._UJE’MKL/W(‘,L/)%’;» i
iil.  Find the number of significant figures in 210.0g and also Bt E Pl T Uy IS 210.0g i
express it in scientific notation. ,zz)_l;(f{(ﬂu’?‘:’
iv. Define Scalar and give any two examples. -ﬁ':uf(?'»o”(/}fuléq/"ékc v
v. Differentiate between distance and displacement. _éugd)utmgﬂmye v
vi. Define Velocity and write its mathematical formuia. _éé{__,;.lr/wl/%’u’wlé..ig,d"d(_?'!b Vi
vii. Write two ways to reduce friction. ,c’i(g/’zri»i_é./{fd‘(/ Vii
vili.  Why rolling friction is less than sliding friction? : ?g,&ﬁ,fufc;uj&’{)jﬁl}/:uy/’ju Viii
3. Write short answers to any five parts. (5x2=10) -"i‘({ Sl ¥4 L»If!é&c;.{}f 3
i, Define Head to Tail rule. A8k b
ii. Whatis difference between like and unlike forces? . ?z‘:,J}LfLﬂ/JJI/»;JUUMJJU i
ii. Define Rigid Body and Axis of Rotation. ' H A 6&“‘5»;:1’751;;55@@ il
iv. What are artificial satellites? Give an example. ,éf;dl*x?ulyu’?uk‘/gf}" v
v. What is field force? ?q—énlfu’/}i&j v
vi. Write the value of “G” and its unitin Sl. ! _a‘f V=S .vgkgwmfd“e” Vi
vii. What is meant by the efficiency of a system? ?z_b‘byb}j‘”lf¢o"“/dil(§ﬂb’/f vii
viii. Define Power and write its S1 unit. | _é&'gSI M»réqﬁdug Jviii
4, Write short answers to any five parts. (5x2=10) ,éég F ez P4 Lr’iléké—&f 4
i. Define Density and write its formula. 426.1)’/(55"}!»!;»’::4/'7(56’;“5 K
ii. Whatis meant by elasticity? ‘ ‘.‘4,41/&)’46“)/&! i
iii. Define Stress and write its S| unit. Z L] by A8 i
iv. Whatis meant by melting point and freezing point? ?gyl/lg’a&Iijz)/;l&!gﬂ'f‘ v
v. Evaporation causes cooling, why? ?gt"ﬁu{wtq,@#b’u@;ungy WV
vi. Define Transfer of Heat and write its two ways. ,é}(bcﬂuﬂ)»iwulai:.y/f”dwtf"dtz?f Vi
vii.  Write two uses of convection currents. ,ég/’olﬂtf;/lmﬁu}ifc%}( Vil

viii. Define Conduction also describe conduction in solid, briefly. ,éugﬂfﬁécﬁfﬁuﬁu,ﬁﬁéqﬂ&f% Vi
Section — I (Each question carries Nine marks) (4+5=9) (! /]Ldlf ) (Hs

5. (a) Derive the third equation of motion with the help of ,Zéjilal)L’d/ngc///L)y6;.')’//(;(!,%{ ) .5
speed-time graph.

08 e i S0 e H I e §3ms™ S LA LS50 em SULASE 05 ()
(b) How much centripetal force is needed to make a body of mass 0.5 kg to move in a ciscle of a radius
50 cm with a speed 3ms™ ?
6. (a) State and explain Law of Gravitation. ,aéwuw:éuguiwu‘”:ag/ ) .6
e 52 A S s § 15 om S6UIE 2008 L ()

(b) A mechanic tightens the nut of a bicycle using a 15 cm long spanner by exerting a force of 200N .
Find the torque that has tightened it.

7. (@) Explain the working of hydraulic press. ,ééyté)(,g/b’,z/éé._/(b’éu’i/,u@)ﬂ (i .7
A BB G TL A s ol Ll 2 4 B0°C el ¥ U0y 197 120 4 15°C Ut el AT ()
367107k

(b) A balloon contains 1.2n2° airat 15°C . Find its volume at 40°C . Thermal coefficient of volume

expansion of airis 3.67x107 k™. &/
/// /f/é 13-121-A-34000
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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill that circle in front of that

question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

Q.1 Questions /=1y A B C D
,b’mwj,g{—y b’u’;ﬁdbi’/g}j&)& X — axis
1 0 1 F 2F
A force acting along x — axis , its y —component is:
Gl 7 E 18 oo/ Fa0ou eI KA
B
2. 100 J 200 J 800 J 1600 J
A car having mass 400kg, moving with velocity 2ms™
. Its kinetic energy will be:
_eaind e SN F s
3. v \ INm™ 10 Nm™ 10> Nm™ 10° Nm™
The SI unit of pressure is Pascal, which is equal to:
U S P UL R R R R g
4, Me:gG Me: g Mez—C?g— Me= g
Formula to find mass of Earth is: G G
,+G)Vj)gﬁg;£b200 % "
5. 0.2s 0.02s 2x107 s 2x107 s
An interval of 200us is equal to:
U &)L@/f]d(ﬂ‘}(
6. 2 4 3 5
The ways by which transfer of heat take place are:
e WA S | .
7. WK WmK WmK W K™
The unit of thermal conductivity is:
bl S8eS 7
8. e 6/6/ 5§ =y 2aS=vf2—v,.2 v,=v,+at F=ma
Third equation of motion is:
-q,.:/géu“’(}JT%&!M({»LMV@»I}L‘
g. 1 0.1 2 0.2
Coefficient of friction between tyre and dry road is:
14 (F,) JASES e mv? mv mv mv*
10. = —- Lo
Centripetal force (F,) is equal to: ¥ d r ¥
-39 81 K))Q ,
1. s second ms2 watt
Sl unit of power is:
=(V) 385 37 U ol
2. Py a+aT)y | ov,(+8aT) | V,(BAT) | V,(1-BAT)

Volume thermal expansion (V)=

J2
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Note: Section I is compulsory. Attempt any two questions from section IL.

vi.

vii.

viil.

vi.

vii.

viii.

5.

(a)

()

@

(b)

(a)

(b) A wooden block measuring 40cmx10cmx5Scm has a mass 850

(Section -1 Jil.#)
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Write short answers to any five parts. (5x2=10) ,25/‘4 iz /"‘ L»Ix’lé&a(}f .2
What is me;mt by prefixes? Give an example. _z{::dt’:ﬁ?q__)f/.tfgz_ﬁ(54 i
Estimate 16 years age in seconds. _E b il slg £ Ly i
Differentiate between distance and displacement. ,zéé:,&)utwu;,,:m i
Define Speed and Velocity. ,aé...y/f‘fé’ﬁwrjgg v
Convert 36 kmh™ intoms™ . ,éédl‘;u: ms F36kmh™ v
Define Momentum. Write its equation. ,.&ﬂabl/(fu’t,ﬁ..yﬂd/kr Vi
When a gun is fired, it recoils. Why? tUsf . QU 18 J o Sedk ekl il
How many seconds in a day? Calcuiate it. _.ﬁJ?uf.LJt}}}g’gJuJb{l il
Wirite short answers to any five patts. (5x2=10) -z:é,; Sz /"; /,,:z:ég:_éf =3
Define Head to Tail rute. S8 e
Define Torgue and write its mathematical equation. ,ijb(/c}b’é’]ulaé_yﬁé_ﬁv i
Describe Principle of Moments. ,zifuwwsqf”r i
What is meant by gravitational force? A /Lr’/LU’/}J:% dg’,/ v
Define Orbital Velocity and write its formula. ,2‘—:{'4;1!;’/6&’/1»!2’54/76&’1}:4)}‘)7 R
Describe global positioning system. ,zéugﬁ”'/ﬁ;wf Vi
Define Power and write its S1 unit. -é‘f A4Sl (/u;ra‘-f_y A U?’»Q vii
Define Efficiency and write its equation. ,éfal;l/dmuléi‘f..yﬁéu/“f&f il
Write short answers to any five parts. (5x2=10) . ,’4-‘54 Felif /3; L"f’ékd—&f A4
A stone having volume 200¢n’ and 500g mass. -Zér')’”é)“;‘(ju’lda‘.. 500g u‘bl(/:l_(;db 200cm’ LI i
Find its density.

What is pressure? Write its mathematical formula. ,é4/u,uis(_}wut?4‘,y,ii4 i
Is pressure scalar or vector? Write its Sl unit. ,é4;¢ﬂ43| b’m?}f} L q,/.‘fc/‘;’/:, i
Write down the names of two factors effecting evaporation. -éé{:/?rbéd'!f»é.b!.—/uut?‘/,(ﬁuﬁl Av
Define Specific Heat Capacity. ,céug /7 (5#}‘3 w7 v
Write the name of two ways by which transfer of heat takes place. ,éégfrbéuﬂ)»[ya;l]d(ﬁl i
Why does transfer of heat in fluids take place by convection? ?437&-“4};{&,&*::’/&1!/()@&;?!0? i
What is meant by convection currents? ?.f.‘_..._}’_l{b’u’jd/uf‘:ﬂ/ Vi

Section — 11 (Each question carries Nine marks) (4+5=9)

(d/)l—db’/;)

s

s B pins ol E I AL HSE (D) 5
State Newton's third law of motion and give three examples from daily life.
-éér"”gﬂf/@/ VJV‘q—(ELy!? 15ms™ /ﬁ'{utﬂg5 &ﬂ)é’ié—(ﬁJ/&rfé(fﬂ)é 30ms™ nggl

Find the retardation produced when a car moving at a velocity of 30ms™" slows down uniformly to15ms™
in 5 seconds.

Define Equilibrium also explain first condition for equilibrium. -Z;wb;(j&}&férz’/d}gﬁﬁéqﬂdﬁ/dﬂ
o Vb (BG4S 6m U 2£10 5O} 200kg o4t
Calculate the power of a pump which can lift 200kg of water through a height of 6m in 10 seconds.
_E sehlo§eb BT LIPS T A S p e 507
What is meant by thermal expansion? Derive the equation of linear thermal expansion in solids.
,ér}"&'z":’(gdf,é-BSO g Jbb’;yéidﬁ.,{fé_fg; 40cmx10cmx5cm
g. Find the density of wood.
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